EXERCISES FOR CHAPTER 4

With Solutions

Exercise 1.
An analyst makes the following forecasts of cash flows for a firm with $2.5 billion of debt at the end of 2003 (in millions of dollars):





2004

2005

2006
Cash from operations

1,439

1,726

1,894

Cash investments

  539

  624

  834

He forecasts that free cash flows will grow at 4% per year after 2006. 

Using a required return for operations of 10%, value each of the firm’s 2,453 million outstanding shares.

Solution

To estimate the value of the firm, calculate free cash flows from the forecasts, take their present value at the end of 2003, and then add the present value of the continuing value with a 4% growth rate. Then subtract the value of the debt to get the value of the equity.



                  2003
2004

2005

2006
Cash from operations


1,439

1,726

1,894

Cash investments

  
   539

   624

   834
Free cash flow



   900

1,102

1,060

Discount rate 



1.10

1.21

1.331

PV of FCF



818.2

910.7

796.4

Total PV to 2006
     2,525.3

Continuing value*






18,373.3

PV of continuing value  13,804.1

Value of the firm
   16,329.4

Value of the debt
     2,500.0

Value of the equity
   13,829.4

Value per share = 13,829.4/2,453 = $5.64

*Continuing value = 
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 = 18,373.3

Exercise 2.

A firm reports cash flow from operations in its cash flow statement of $2,592 million and cash used in investing activities of $1,943 million. Footnotes reveal that the firm paid $123 million in interest on debt and received $56 million of interest on bonds that it held. 

Amongst the investments in the investment section of the cash flow statement is proceeds of $971 million from selling debt that the firm had held. The firm’s tax rate is 35%.

Modify the reported cash flows to calculate cash from operations. 

Solution

Reported cash from operations


$2,592

Net interest expense


$67

Tax on interest (at 35%)

  23

After tax net interest


  

       44

Adjusted cash from operations


  2,636

Cash investment reported

$1,943

Cash from selling debt

     971

Adjusted cash investment



  2,914
Free cash flow





    (278)

Investment of excess cash in interest bearing securities is not investment in operations. But the GAAP cash flow statements classify these investments along with operating investments.  In the case here, these investment were liquidated, so investment in operations was reported as $971 million higher than they should have.
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